THE PAYBACK METHOD

Optional Method for Factoring Trinomials of the form ax2 + bx + c when a >1 :
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Factor:

6x2 + 19x – 20



Multiply the a and c coefficients







(6) ( -20) = -120

Remove the a coefficient (the 6) and rewrite the equation using the (a)(c) value for the last term:

X2 + 19x – 120

Now, factor this simpler trinomial to get
(x-5) (x+24)

Since we removed the 6 earlier we now need to put it back in…. put it back in front of EACH of the factors:

(6x-5) (6x + 24)

(6x-5) has no common factor so we can leave it alone BUT (6x + 24) DOES have a common factor which we must factor out!  The common factor is a 6.
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